
Name: 
Homework 3, due Wed 9/4/2013. 

 

 

(1) Evaluate the following in the rectangular form (i.e. Real + j Imag): 

 

a) z = 4e
jπ/3

 

b) z = 6e
-jπ/2

 

c) z = j
3
 

d) z = (1-j)
3
 

e) z = (1-j)
1/2

 

 

(2) If z = -2 + j4, determine the following in polar form (i.e. Ae
jφ

) 

 

a) 1/z 

b) z
3
 

c) |z|
2
 

d) z
1/2

 

e) Im (z) 

f) Im (z*) 

 

 

(3) Find the phasors of the following time functions: 

 

a) y(t) = 3cos(ωt-
 π/3) 

b) y(t) = 12sin(ωt+
 π/4) 

c) y(t) = 2e
-3x

sin(ωt+
 π/6) 

d) y(t) = -2cos(ωt+
 3π/4) 

e) y(t) = 4sin(ωt+
 π/3)+3cos(ωt-

 π/6) 

 

 

(4) Find the instantaneous time sinusoidal functions corresponding to the following phasors: 

 

a)  ̃= -5e
jπ/3

 

b)  ̃= j6e
-jπ/4 

c)  ̃=6+j8 

d)  ̃=-3+j2 

e)  ̃=j 

f)  ̃= 2e
jπ/6 

 

 


